
A1FINISH

HEAT TREAT.

MATERIAL

ENGINEERING

CHECKED

DRAWN

DWG NO.
SIZE

SCALE SHEET

REV

A

B

C

D

8 7 6 5 4 3 2 1

D

C

B

A

4567 3 2 1

UN MUTUAL
RESOLUTION (M.R.1)

FLEX PLI UN

DRAWING TITLE:

 

DO NOT SCALE

QTY/DUMMY:

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

DECIMALS:  ANGLES:  MACHINED:

   X ±  0.5
 X.X ±  0.1
XX.X ±  0.05

±0.5 ° 1.6

DEBUR AND BREAK ALL SHARP EDGES
DIMENSION LIMITS HELD AFTER PLATING

THIRD ANGLE PROJECTION

B

B

A

A

CC

DD

110.0

18.0

(2X 62.0 )

2X 72.0

65.0

2X 56.0

4X 51.0

2X 32.0
2X 28.0

2X 20.0

2X 88.0

4X 72.0
2X 56.0

4X 44.0

2X 30.0

16X  THRU5.0

8X  THRU
18.5  75.0

7.0

4X  THRU
13.0  40.0

6.0

4X R 10.0

66.0

2X  THRU THIS SIDE
14.2  3.0

8.2

18.0

2X 42.0

2X 36.5

2X 22.0

2X 4.0

2X 15.0

2X 36.0

2X 8.0

32.0

2X 3.5

 AS SHOWN
(SEC A-A)

12.0

4X R 3.0

4X 66.0

8X R 1.0

1.9

6.0
17.9

8X 62.0

2X 31.0

2X 19.3

1.9

17.9
6.0

4X R 10.0

8X R 5.0

2X 43.3

2X 75°

55.0

4X R 5.0

36.0

4X R 6.0

4X R 3.0

4X 51.37

34.0

27.0

30.640.3

17.0
4X R 3.0

72.0
(Dia 5.0 x3.0 DEEP)

2X 5.0

2X 22.0

2X
1.5

2X R  SLOT
SEE SECTION D-D

5

8.0

4X 39.0

77.0

94.0

4X 11.6°

2X 7.52X 10.8

4X 63.0

74.0

48.0

2X R1.5

8.0

2X 72.0

15.6

36.4

58.0

2X 74.0

2X 74.0
SHARP

CORNER

2X 27.0

2X 52.0

2X R2.0

96.0

4X  X 45°  CHAMFER12.0

8.3

4X 68.0

2X  X 45°  CHAMFER1.5

62.4

41.6

2X 57.5

2X  3.05.0

7

68.9

R1.5

2.0

14.3

(R5 )

R  ALL OUTER
BOTTOM PROFILE

1

(22.0 )

(94 )

KNEE BLOCK, FEMUR

133-5320  A 
1.000 1 OF 1

ITEM
NO. QTY PART NO. DESCRIPTION

1 8 5000352 WIRE INSERT, M4 X .7 X 4
2 2 5000333 WIRE INSERT, M3 X .5 X 6

7075-T6 ALUMINUM

CLEAR ANODIZE

PART LIST

APPROVALS DATE
MJB 08-Nov-13

CAD

1

REVISIONS

ECO/ECR# REV. DESCRIPTION DATE CHANGED BY

A  

2x DRILL AND TAP FOR
M3 x .5 x 6 WIRE INSERT
SEE SECT C-C

4x DRILL AND TAP FOR
M4 x .7 x 4 WIRE INSERT
(2 OPPOSITE SIDE)

ECE/TRANS/WP.29/1101/Add.3/Drg 56

1

VIEW Z

2

SEE DETAIL  A

2X 5.0 THRU

VIEW Z
(PARTIAL VIEW)

SECTION  B-B

SECTION  A-A

DETAIL  A
SCALE  1.000

SECTION  C-C
(PARTIAL VIEW)

SECTION  D-D
TYPICAL 2X SLOTS

(PARTIAL VIEW)

2X M3x.5  ISO - H TAP  6.0
(1 OPPOSITE SIDE)

4X M3x.5  ISO - H TAP  7.0

2X M3x.5  ISO - H TAP THRU

2X M8x1.25  ISO- H TAP THRU THIS SIDE

4X M3x.5  ISO - H TAP  6.0
(2X OPPOSITE SIDE)

4X M3x.5  ISO - H TAP  7.0

mburleigh
New Stamp


	Sheet 1
	Views
	VIEW_TEMPLATE_1
	VIEW_TEMPLATE_2
	VIEW_TEMPLATE_3
	VIEW_TEMPLATE_4
	bottom_5
	left_6
	new_view_7
	new_view_8
	right_11
	left_12
	A
	right_14
	bottom_19

	Zones
	A1



